T

COMPONENTES AUTOMATIZADOR

ITEM |QTD. CcODIGO DESCRICAO
1 1 P03579-02 CARCACA FEMEA GRAND BV/PV DUO
2 2 C00386 ROLAMENTO 6003 ZZ C3
3 1 P03746T EIXO DE TRACAO GRAND BV/PV DUO (ZINC)
4 1 P03728 COROA Z41 GRAND BV/PV FURO 22 (USIN)
5 1 P03747-02 CHAVETA 5/16 X 5/16 X 55mm (FURACAO)
6 1 P06110-02 INDUZIDO GRAND BV/PV CPR C/SEM FIM
7 2 C02481 ROLAMENTO 6202 ZZC3 EMQ B P
8 1 A00963 ESTATOR BOB Q60MM TRIF ALUM GRAND BV TSI
9 1 P03580 CARCACA MACHO GRAND BV/PV DUO (FUR)
10 6 C01081 PA MQ PN HXL T30 ACTM 6 X 1 X 30 RI ZB
11 1 P08122-01 PINO DESLOCADOR GRAND BV/PV DUO (USIN)
12 1 P03858-X RABIXO COMPLETO GRAND BV/PV C/HALL
13 1 P03727 ACABAMENTO REDUTOR GRAND BV/PV
14 12 C07550 PARAFUSO MQ PN HXL T25 TMA 5 X 20 RI BC
15 1 P03726 MANCAL SUPERIOR GRAND BV/PV
16 1 P03730 DEFLETOR CARCACA GRAND BV/PV
17 1 A00176T ENCODER SENSOR HALL TSi 380mm NEW
18 2 C01105 PARAFUSO MQ TMA M3 x 6
19 1 P01242 VENTOINHA GRAND BV/PV NEW C/ IMA
20 1 C07412 ANEL ELASTICO RS @8MM
21 1 P03758 CARENAGEM VENTOINHA GRAND BV/PV DUO
22 4 C02532 PA PN PH AAPB 3,9 X 13 ZB
23 1 P09984 BASE DA CENTRAL GRAND BV
24 3 C00274 PARAFUSO MQ PN PH DIN TMARIBC 4 x 10
25 1 A01545-X CENTRAL TSI PRO BV
26 4 C01101 PARAFUSO PHLIPS MITTOPLASTIC ZB 3 x 6mm
27 1 P10003-G TAMPA DA CENTRAL GRAND BV TAMPOG GAREN
28 2 C07261 PARAFUSO PHILIPS MITTOPLASTIC ZB 4 x 10
29 1 C00734 PASSA CABO BV DUO Tsi @14,5 CINZA
30 1 C07313 TRAVA E-22
31 6 C06007 ANEL O'RING 6 X 1,8MM
32 1 C02512N TERMINAL OLHAL 27 X 06 GRNU0112
33 1 C06002 PARAFUSO PN TORKS TMA M5 x 10
34 1 C00464 MOLA FIO 8X40 DIAM 0,9MM DESTRAV PV DUO
35 2 P05959-01 CAPA DO ROALMENTO 6202 GRAND BV DUO

: : APROVADO: ESCALA:
PROJETADO: 14/10/2022 CHECADO: '
L.RAFAEL 1:3
TITULO:
GAREN AUTOMACAO S/A CJ MOTORR GRAND BV DUO TSI
Rua: Sao Paulo, n° 760, Vila Araceli -
Fone/ Fax: Oxx 14 3407-6639 CODIGO: |FOLHA:|REV.:| DATA: FOLHA:




KIT DE INSTALACAO

CONJUNTO ACIONAMENTO
ITEM |QTD. CcODIGO DESCRICAO
1 1 P10004T BUCHA DE JUNCAO DE ACO GRAND BV (ZINC)
2 1 P04625 FUSO 5/8" x 1443mm P80 BV QUAD TSi
3 2 C01081 PAMQ PN HXL T30 AC TM 6 X 1 X 30 RI ZB
4 1 P05056 PORCA ACIONADORA BV BIPARTIDA
5 1 C00993 IMA ORIENTADO 22 X 8 X 12mm (BV)
6 1 P00573 PINO DA PORCA BV/PV PLANET E MAX/QUAD
8 1 P10002-XE TRILHO SEMI-TUBOLAR GRAND BV 1,50M
9 2 P09980 BATENTE DE ALUMINIO DO REED
10 4 C02152 PORCA M6 SEXTAVADA ZB
11 4 C01761 PARAFUSO 5.8 MAQ QUAD M6 X 18 ZB
12 1 P09989 MANCAL ACAB. DO TRILHO GRAND BV/PV
13 1 P00188 COPO MANCAL 5/8
14 1 C00312 PARAFUSO PHILIPS PAN. 3,5 X 16 ZB
15 1 A05511 CJ DO REED 1,40/1,50M BV MAX
16 1 P01694-01 CHAVETA 6,35 x 6,35 x 45mm P/PINO(CORTE)
COMPONENTES KIT DE INSTALACAO
ITEM |QTD. CODIGO DESCRICAO
1K 1 A00104 BRACO DESTAV COMPLETO P/ BV ESQ
2K 2 C00310 PARAFUSO PHILIPS 3,9 X 9,5 ZB
3K 1 C00568 CUPILHA BV 5/32 X 1POL 1/2
4K 1 P00407 PINO DO SUP.DESTR BV/PV(PEQ) INJETADO
5K 8 C00140 ARRUELA LISA 1/4
6K 8 C01761 PARAFUSO 5.8 MAQ QUAD M6 X 18 ZB
7K 8 C02152 PORCA M6 SEXTAVADA ZB
8K 1 M02673 TARUGO VEDANTE POLIPEX 10MM CINZA 2,4M
9K 5 C06016 PARAFUSO CMT MQ TLOB SXT FLG M6 x 16 ZA
10K 1 C02373 MINI GRAXA BRANCA LITIO (SACHE PERS.20g)
11K 1 P08100 CHAVE DO DESTRAVAMENTO PV DUO

F06264 CJ ACION 5-8 X 1500MM P80 GR BV DUO-TSI

PROJETADO: 14/10/2022 CHECADO:
L.RAFAEL

APROVADO:

ESCALA:
2:5

TITULO:

CJ MOTORR GRAND BV DUO TSI

GAREN AUTOMAGCAO S/A

o Rua: Sao Paulo, n® 760, Vila Araceli -
Fone/ Fax: Oxx 14 3407-6639 CODIGO: |FOLHA:
CEP: 17400-000 GARCA/SP FO1579-GCT

Al

REV.:] DATA:
1 14/10/2022

FOLHA:
2 /2




